1. In which one of the following regions was
Dhanyakataka, which flourished as
a prominent Buddhist centre under
the Mahasanghikas, located?

(a) Andhra
(b) Gandhara
(c) Kalinga

(d) Magadha

2. With reference to ancient India, consider
the following statements :

1. The concept of Stupa is Buddhist
in origin.

2. Stupa was generally a repository
of relics.

3. Stupa was a votive and
commemorative structure in
Buddhist tradition.

How many of the statements
above are correct?

(a) Only one
(b) Only two
(c) All three

(d) None

3. With reference to
Korkai, Poompuhar
well known as
(a) capital cities
(b) ports
(c) centres of iron-and-steel making

(d) shrines of Jain Tirthankaras

DTG-F-GST/62B

4. Which one of the following explains
the practice of Vattakirutal’ as
mentioned in Sangam poems?

(a) Kings employing women
bodyguards
(b) Learned persons assembling in

royal courts to discuss religious
and philosophical matters

fc) Young girls keeping watch over
agricultural fields and driving away
birds and animals

(d) A king defeated in a Dbattle
committing ritual suicide by
starving himself to death

5. Consider the folowing dynasties :

1. Héysdla

2./ Gahadavala

3. 'Wmiyaf;"" Y /

4 Y“’ v f

How many of tﬁ& /above dynasties
established théir ~kingdoms in early

ith reference to ancient Indian History,
consider the following pairs :

Literary work - Author

1. Devichandragupta : Bilhana
2. Hammira-Mahakavya : Nayachandra Suri
3. Milinda-panha : Nagarjuna

: Somadeva Suri

4. Nitivakyamrita

How many of the above pairs are
correctly matched?
(a) Only one
(b) Only two
(c) Only three
(d) All four

[PT.O.
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10. By which one of

XDTG-F-GST/62B

“Souls are not only the
. ! propert
animal and plant life, but also gf rgck(:nf

rupning water and many other natural
objects not looked on as living by other
religious sects.” S

The above statement reflects one of
the core beliefs of which one of the
following religious sects of ancient
India?

(a) Buddhism
(b) Jainism
(c) Shaivism

(d) Vaishnavism

8. Who among the following rulers of

Vijayanagara Empire constructed a
large dam across Tungabhadra River
and a canal-cum-aqueduct several
kilometres long from the river to the
capital city?

(a) Devaraya I
(b) Mallikarjuna
(c) Vira Vijaya
(d) Virupaksha
9. Who among the

medieval Gujarat
Portuguese?

the following Acts
General of Bengal
General

was the Governor
designated as‘ the Governor
of India?

(@) The Regulating Act

(b) The Pitt’s India Act

(c) The Charter Act of 1793
(d) The Charter Act of 1833 ;

11. In essénce, what does Due Process of

Law’ mean?

(a) The principle of natural justice
(b) The procedure established by law
(c) Fair application of law

(d) Equality before law

12. Consider the following statements :
Statement-] :

In India, prisons are managed by
State Governments with their own
rules ‘d;nd regulations for the
day-to a/ay"dmihistration of prisons.

Staterientsll : &
It India, prigons dre governed by the
Prisons) Act, 21894 -which expressly
kept the, subjectof prisons in the
contro! of Proviricial Governments.

Which one of.the Tollowing is correct in
respect of the above statements?

" ufa) BothiStatement-l and Statement-II
.are“correct and Statement-II is the

- Kily }"bbrr/ect explanation for Statement-1

y /o » K
i *‘“l ( 15‘} ‘Both Statement-1 and Statement-II

R are correct and Statement-II is

: not the correct explanation for
k%, ‘ Statement-I
: (c) Statement-l is correct but
Statement-II is incorrect
(d) Statement-I is incorrect. but

Statement-II is correct

13. Which one of the following statements

best reflects the Chief purpose of the
‘Constitution’ of a country?

(a) It determines the objective for the
making of necessary laws.

(b) 1t enables the creation of political
offices and a government.

(c) It defines and limits the powers of
government.

It secures social justice, social

(PT.0.
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In lnd.ia, 'which one of the following
Copstltutlonal Amendments was widely
believed to be enacted to overcome

- the judicial interpretation
- Fundamental Rights? i

fa) 1st Amendment

(b) 42nd Amendment
fc) 44th Amendment
(d) 86th Amendment

: Cona_ider the following organizations/
bodies in India :

1. The National Commission for
Backward Classes

2. The National Human
Commission

3. The National Law Commission

4. The National Consumer Disputes
Redressal Commission

How many of the

constitutional bodies?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements £

1. If the election of the

of India is declar v
the Supreme Court oi
acts done by him/he

Rights

above are

3. When a Bill is pres
President of India, the Constitution
prescribes time limits within _which
he/she has to declare his/her
assent.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None . "

XDTG-F-GST/62B

17. With reference to Finance Bi

; 1l
Bill in the Indian Parhamon?n?nM“,n‘W
y Consider

the following statements -

1. When the Lok Sab
a1 > h |
Fqnnnct‘ Bill to the R;:;ivi\mg:?f:“
it can amend or reject the ﬁill -

2. When the Lok Sabh
1€ o a transmi
Moncy Bill to the Rajya S;?}:t:
?t cannot amend or rcjcd the Bill‘
it can only make rccommcndations'

3. In the case of disagr
bct.wcen the Lok Sabha ga:fdmet:}?:
Rajya S8abha, there is no joint
sitting forMoney Bill, but a joint
sittingd "becames necessary for
Finance Bil.

How'many of the above statements are
gorrect?

(a) ¥ Only oné
(b) Omiy twp

(d Allthyte
{d) None

(18. C@;ﬁé‘ the following statements :

O

)4

4 /6nce the Central Government notifies
an area as a ‘Community Reserve’

1. the Chief Wildlife Warden of the
State becomes the governing
authority of such forest

2. hunting is not allowed in such area

people of such area are allowed to
collect non-timber forest produce

4. people of such area are allowed
traditional agricultural practices

How many of the above statements are
correct?

(@) Only one
(b) Only two
(c) Only three
(d) Al four

(P.T.O.
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20. Consider the following statements

With r

in lnijf?;fncg 0 ‘Schedyjeq
statementsg . Nsider the lfon/\re'as‘
1. Within 4 S OWing

an arep he NOtifien ¢
place th:oa }(:heduled A'r(:;h?n of
President. QN Order " Kes

of th
2. The 1
rormin&rgest adminigqy. t
;TiNng the §q aUve  ynit
District ang d Area is th

cluster of villagas ;. OVeSt ig th
3. The Chief 8 i the Blocy, "
concerned Stay ers
submit annual
Union Hoxpe Mini‘::r";s 10 the
administration of Schedy N the
in the States, ed Area

s
How many of the aboye
correct? statements are

(a) Only one
(b) Only two
{c) All three
(d) None

Statement-I :
The Supreme Court of ndia
held in some judgements
reservation  policies
Article 16(4) of thef.Co
India ‘would be lin :
for

Statement-II ;
Article
India de

are correct and S
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I ¢

(c) Statement-I is  correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

XDTG-F-GST/62B

Consider the following statements
Statement-|

l]n(lm,' despite having uranium
deposits, depends on coal for most of
its electricity production

Statement-11 :

Uranium, enriched to the extent of

at least 60%, is required for the
production of electricity.

Which one of the following is correct in
respect of the above statements?

(a) Both @batsment-1 and Statement-I1
arcdeprrect and Statement-II is the
correct éxplanation for Statement-I

(bjpmBoth Stateafienrit-¥ and Statement-I1
are corréet ond Statement-II is
noty. the™ cofrect explanation for
Statement<]

Wfc) “Statepfept¥ " is  correct  but

StatéméntAl is incorrect

(d) Stafement-I1 is incorrect but
Statement-II is correct

/22, Cepsider the following statements :
4 / (. Statement-I :

Marsupials are not naturally found in
India.
Statement-II :

Marsupials can thrive only in montane
grasslands with no predators.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-Il is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-l1 is incorrect but
Statement-II is correct

[P.T.O.
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23. Tnvasive Specieg

1. Lion-tailed Macaque
2. Malabar Civet

3. Sambar Deer

24. Consider the following faung .

'S Special:
develops Globg) c;::::m. foup (thay
Datab_ase) belon Wa.swc Pecipg
following organizations? - of the
(@) The lntcrnatio
n '
Conservatigy, of Nilt auon o,
(b) The Uniteq Nat :
rogramme ‘ons Environme t
(c) The Uniteq i
Commission f, :vtil:: - i
Development ment ang
(d)

to indicate the dire‘ctioq and the
distance to a source of their food?

(a) Butterflies

(b) Dragonflies
(c) Honeybees
(d) Wasps

XDTG—F—GSTI 62B

.

¥

11

_corrent?

2. Some
. © Mushroome ha
active Propertieg, L
3. Some mush
rooms i
ey have Insecticida]
/ 4
4, Somc/ M sheoomg have biohymi
nescént PIoperties,
'
How _ Nany of the. abovy . Statements are

¥ /’

/

k 2,
(@ Only one 2/

< m Oxly/twg‘; /

A i &/
L meife) ‘g}g"tﬁm

v 4
4 /?:(tt% /R)l/four

(@)
a}.’/éonsider the following

statements
regarding the In/dian squirrels :

1. They build nests by making
burrows in the ground.

They store their food materials like
nuts and seeds in the ground.

3. They are omnivorous,

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three

(d) None

[P.T.0.
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consider the following statements -

1. Some microorganisms
in environments with te
above the boiling point

an  grow
mperature
of water,
2. Some microorganismg can grow
in environments with temperature
below the freezing point of water
Banisms can grow
C environment with

3. Some microor
in highly acidij
a pH below 3,

How many of the aboye
correct?

(a)
(b)
(c)
(d)

slatements are

Only one
Only two
All three

None

29. Which one of the following makes a togl
with a stick to Scrape insects frg
a hole in a tree or a log of ‘wood?

(@)
(b)
(c)
(d)

Fishing cat
Orangutan
Otter

Sloth bear

30. Consider the fo

» oW 0N

In the making of how
are hydrofluorocarbons used?

(a) Only one

(b) Only two

{c) Only three

(d) Al four

XDTG-F-GST/62B 13

31. Consider the following statements -
1.  Jhelum River passes th
Wular Lake. -
2. Krishna River directly feeds Kollery
Lake,
3. Meandering of Gandak River
formed Kanwar Lake.
How many of the statements given
above are correct?
(a) Only one
(b) Only twi>.
32. C
as

: Largest container port in
India

(@) Only one pair
(b) Only two pairs
(c) All three pairs
(d) None of the pairs

33. Consider the following trees :

1. Jackfruit (Artocarpus heterophyllus)
2. Mahua (Madhuca indica)
3. Teak (Tectona grandis) -

How many of the above are deciduous
trees?

(a) Only one
(b) Only two
(c) All three
(d) None

[ P.T.O.
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sider the following statements -

con
|[ndia has more arabl 38. Which one of the following is a part of
4 China. ¢ area than the Congo Basin? '
2. The prgportiop of irrigated area | (@) Cameroon

,gg;:a in India as cOmpareda :: (b) Nigeria

' (¢) South Sudan

3. The average _P"Od\JCtivity ver d

hectare hm Indian agriculture is (d) Uganda

higher than that i :
v in China. 39. Consider the following statements :

1. Amarkantak Hills are at the
confluence of Vindhya and
Sahyadri Ranges.

2. Biligirirangan Hills constitute the

How many of the above statemen
correct? ts are

(a) Only one

ly tw

(b) Only tWO ea;termhqst part of Satpura Range.

(c) Al three | 3. Sesiachalam Hills constitute the

(d) None Swﬂ\ part of Western
/7 _Ghats &

1

=

5. Which one of the following is the best statements given

example of repeated falls in sea level,
giving T11s€ to present-day extensive
marshland?

(a) Bhitarkanika Mangroves
(b) Marakkanam Salt Pans
(c) Naupada Swamp

(d) Rann of Kutch

3

reference to India’s projects on

nnectivity, consider the following

statements :

1. East-West Corridor under Golden
Quadrilateral Project connects
Dibrugarh and Surat.

9. Trilateral Highway connects Moreh

(b) Coppe in Manipur and Chiang Mai in

(c) Thailand via Myanmar.

(@) Titanium 3. Bangladesh-China-lndia-Myanmar

Economic Corridor connects

Varanasi in Uttar pradesh with

Kunming in China.

36. llmenite and rutile, ab
in certain coastal
rich sources O

37. About three-fourths of
2 metal required for

(i)sf baotéerie; fgr elegtric motoF ughaes: How many of the above statements are
producersag E correct?
;:j Argentina o § @ O iy o
Botswana
' ) (b) Only two
(c) the Democraﬁq_-.RePubﬁc of the 4o
Congo 2 - (c) three
(d) Kazakhstan (d) None

.
-
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.der the following statements
ent-l : ’
I erest income from th .
" Infrastructure ]""CStm:mdfrpos’ts
(m"ITS) distributed to their inw::st(l;u o
exempted frons GA%, SSiEing dividend is

is

taxable.
Statemcnt—ll :
are recognized as borrowers

the ‘Securitization

' and
on of Financial Assc:t:)2 cc: nci
ement of Security Interest Az:]t

under
structl

2002".
which one of the following is correct in

respect of the above statements?

(@) Both Statement-I and Statement-II

are correct and Statement-II is the

correct explanation for Statement-I

Both Statement-I and Statement-II

are correct and Statement-II is

not the correct explanation for

Statement—l

(c) Statement-I  is correct
statement-II is incorrect

(d) Statement-1 is incorrect
Statement-II is correct

42. Consider the following stateme

Statement—l <
in the post-

(b)

Statement—ll s
Central Bank

e above

respect of th
t-1 and S

(a) Both Statemen
are correct and State
correct explanation for Statement-I

and statement-II

(b) Both Statement-I

are correct and Statement—llv is

not the correct explanation for
Statement-I

(c) Statement-I 18 correct but
Statement-1I is incorrect

(d) Statement- is but

Statement-1I is €0

XDTG-F-GST/62B

tements

Consider the following sta

43.

gtatement-I :
kely to be on€ of

kets are li

Carbon mar
the most widespread tools in the fight
against climate change.
gtatement-IT :
transfer resources

Carbon markets

from the privateé sector to the State.

js correct in

Which one of the following

respect of the above statcments?

(a) Both statement-] and Statcmcnt—ll
are correct and Statcmcnt—ll is the
correct c/xplanation for statement-]

(b) Both saternent-1 and statement-1I
ate goprregh and gtatement-II is

/ not Ehedieorrect explanation for
/wcm—l @& >
(€ Statementsly s correct  but
emnient-11 15 incogfect
/.
but

24, Whieh one gf-ih
Dstie Reserye Bank of India is consi

pe{gﬁl of «sterilization™?

| Conducting ‘Open Market

AN/ Opcrations’

Oversight of and
payment systems

Debt and cash management for the
Central and State Governments
Regulating the functions of Non-
banking Financial Institutions

der the following markets :
Market

O/
nz/ ofﬁ’aic/ following activities of
dered

settlement

45. Consi
| Government Bond

2. Call Money Market
3. Treasury Bill Market

4. Stock Market
How many of the above are included

in capital markets?
(a) Only one '

(b) Only two

(c) Only three

(d) Al four

17 [P.T.O.
|
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hich one of the folloy,;
the concept of ‘Smaﬁg'?est de
Field™? i
ttlement
(@) Rese of g lar
of people, UpProoteq %e Numbe,
countries dye to w Tom their

them a large cultiVable'la Y Riving

they cultivate collecti Nd whie
the produce cctively ang s .

(b) Many marginal] farm L
. er
organize themselyeg ?n]tn an areq
and synchronize

selected agricultyy e

al Operationg
(c) Many margina] farmers j
s
together make a contlxl':lcfltn e
a corporate body ang surrervxvcllth
their land to the Corporate bogr‘
for a fixed term for which thy
corporate body makes g paymcni
of agreed amount to the farmers
(d) A company extends loans, t i
» technical
knowledge and materia] inputs tg
a number of sma]

1 farmers in
an area so that they produ9<,/ 3
agricultural - commodity :
by the company
manufacturing proce
commercial production

47. Consider the follo

1. The Govern

How many of the above statements are

correct?

(a) Only one

(b) Only two

~(c) Al three I
(d) None ?;\T_rl’;".“ff“?

.

XDTG-F-GST/62B
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48,

C

onsider the investments in the following
assets :

1. Brand recognition

2. Inventory

3.  Intellectual property
4. Mailing list of clients

How many of the above are considered
Intangible investments?

(a) Only one
(b) Only two
(c) Only Ahree
(d) AW fodp

49. ConsSidér thedoMowing

1._aDemegraphi€ performance
2. Rorest afid ecslogy

3. _(Governance reforms

4 Stable gévermment

®.  Tax and @iscal efforts

For the hoﬁzontal tax devolution, the

U Fifteenth’ Finance Commission used

hew w®any of the above as criteria
other than population area and income

. distance?

% (a) Only two

/

(b) Only three
(c) Only four
(d) Al five

50. Consider the following infrastructure

sectors :

1. Affordable housing

2. Mass rapid transport

3. Health care

4. Renewable energy

On how many of the above does
UNOPS Sustainable Investments in

Infrastructure and Innovation (S3i)
initiative focus for its investments?

(a) Only one
(b) Only two
(c) Only three
(d) Al four

[P.T.O.

Scanned with CamScanner



with referep(;e to He "
the following Stateme Guargg .
1 ntS . . onsid
]_ Home (JUard ¢ er
S a .
Home Guarqg re Taiseq Unde
the Cenlral GOVQ::T: ang R T the

51.

53, Consj
Nsider the follnwing pai
irs

Ule Reqi
- m 8 o €gion.
- ;rohe oW — p menﬁone; i(:lﬂ:;:w Reason for bei
Serve as e G “Wws » eing
’ n 1 Uar ‘ 1 : in
the  police i Auxilig ords is North Kiyy and Tturi . news
internal secypiy, MAiNtengp..C 0 - War between
3 To pre " v Armenia ang
- 8 vent  inf 2. N Azerbai;
internatj Utratig * Nagorno-Kary i -
nationg] bo n o the bakh - Insurgency in

the Border i, o'/ C0asta] g,

M s
Battalions GU Cas, 3. Kherson and . : Ozamb1que
Ve bee Juard - Dispute pe
some States, raiseq in Zaporizhzhia Israel and cht;v;: :
n
How many of the
above stat How m
e any of th :
correct? ments gre correctly matched?e above pairs are
(@) Only one
4) nily one
(b) Only twe @) Omly w
(c) All three R
(d) None R

52. With reference to g

India, i 4
following pairs : it a4

54. Congidef, thé following statements -

: The Act »
Action which it i Statéwnent-I :
1. Unauthorized wearing : The Offici A : I;srae'l has: established diplomatic
of police or military Act, 192 /N relations with some Arab States.

uniforms . “Statement-II :

), A The ‘Arab Peace Initiative’ mediated by

2. Knowingly misleading : ; ' :
or otherwise inter Saudi Arabia was signed by Israel
fering with a poli and Arab League.
offtf:lcer ;rn m Which one of the following is correct
9 1tc;le r' wdl;:ﬁ in respect of the above statements?
in their :

il : (a) Both Statement-l and Statement-II

3. Celebratory" 2019 are correct and Statement-1l is the
which can e [ correct explanation for Statement-1
(K% D (b) Both Statement-l and Statement-II
others are correct and Statement-li f;s

Sai the correct explanation for
How many olt; ;}: T ONE TS 81 : IS“t);tement-l
atche : et
corref:tly m (c) Statement-1  is cor:ect u
(a) Only one J BT ‘ Statement-1I is incorrec
: : t but
(b} Only two { d) Statcment-l . is nl:lc(;Oﬂ'CC
(c) All three e B Statement-II is O
» il Ry AW}
(d) None i o
[P.T..
21
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56. Consider the followi

Consider the follow;

55. to sports awarqg : Pairg with
“Bar
Major Dhyan Chang : Fo d
3 5 »] Ratna /\\\'ard r the
Khe N
Outstandin and
formance b per.
pg(r)irt;person yovca
0 f r
year last fo,,
9. Arjuna Award For
e, fetim,
achleVem e
a spo
3. Dronacharya Awarg 0 iortSpchO
‘ noy emi
Coacheg ml}?ent
SUCCess 1 raj:v;
Sportspe e
. €am or
4. Rashtriya Khel e
Protsahan Puraskar °°ntribut?:rlfemthe
SPOrtspersong
€ven ter  their
I‘etlrement

How many of th

€ abo :
correctly matchedp . ¢ Pairs are
(a) Only one i/
(b) Only two

(c) Only three
(d) Al four

respect of the 44
2022

1. It was tHe f
Olympiad wa

The trophy for the/winning team
in the women’s” section is the
Hamilton-Russell Cup. :
How many of the statements given
above are correct?

(@ Only one

(b) Only two

(c) Only three

(d) Al four

XDTG~F—GST1628

57.

88, In the recent years Chad, Guinea, Mal

Consider the fr)llnwing pairs

Ar 1 )
€a of confliet Country where
mentionect in news

it is located

Donbag Syria

Kachin Ethiopia
Tigray North Yemen
How Maggy of “the above pairs are

correclg matgfied?
@ Oniy ona
(bJN ®nly twé
(6 M ifiree

(@) \ None

J
iy

1
and Sudan caught the international
attention for which one of the following

reasons common to all of them?

(a) Discovery of rich deposits of rare
earth elements

(b) Establishment of Chinese military
' bases

(¢) Southward expansion of Sahara
Desert

(d) Successful coups

[P.T.O.
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|
1

consider the fOllOWing h
' eav}, lnd

59
o sty

 Fertilizer e

1 Plantg 61
2. Oil refinerjeg
3. Steel plantg
Green. hydrogen is Xpect
a significant reje in ecar:)ed- to play
many of the above induStrion;ZIrlg hOW

es

(a) Only one
(b) Only two
(c) All three

(d) None

60. Consider the following stateme
G-20 :

1. The G-20 group
established as
Finance i

Which of the state
is/are correct?

(a) 1 only

(b) 2 only

(C) Both 1 m 2 u - LTI

(d) Neither 1mor2

XDTG-P-GST/62B

Wi
ith reference to the Indian Hist
ory,

glexandcr Rea, A, H, Longhurst Robert
ewell, James Burgess ang Walter Elliot
Were associated with

(a) archaeological excavations

(b) establishment of English Press in
Colonial India

(c)” establishfhent. of Churches in
Princely States

§ (d) {eomstruction” of railways in

b Colontal Indig

A }

. éﬁnsider the following pairs :

A v/

/. &Y fSite Well known for

1. Besnagar : Shaivite cave shrine
2. Bhaja : Buddhist cave shrine

3. Sittanavasal : Jain cave shrine

How many of the above pairs are
correctly matched?

(a) Only one
(b} Only two
oAb three
.

(P.T.0.
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sider the f°“°wing

¢ L §
6 qq“,ment—- 5

:‘(‘f‘(h August 18 decla‘red
l/mﬂd]oom Day a8 the

nt-11 Na
L atementT
Lle \\.as m 1905 t
MO"Cment was 13\11‘1

4
!
| M enyy .

at th
e
c
day- hed oy, st;::ﬂe.m
which one of the foye E
0 I.Cspect of the abOVe \::ng
BOth Statement~l a
are correct and Statem
correct explanatiq atemeny. 1 ?nt.ql

Atemepgqs cCt

n for S the
1) Both Statement] g, state,mentq

are correct ang tatemeny

not the correct x €ment-y;

Statement-|

(c) Statement-I i e ‘
Statement-II is incorrect et byt

(d) Statement-1 " is ip, \
Statement-II is corre:fmct but
4 Consider the fo g
" respect of the National

according to the Flag ¢

2002 : TR
Statement-1: "@ | ,

One of the™
the National Flag
600 mm x 400 mm. ¢
Statement-II @
The ratio of
(width) of

Which o
in respect’

() Both Stat

are correct
correct exf

~ (b) Both Sta
are COTITCL

e
Statement-1 -

ML

h“; ’a« |

65,
Consider 1,
fespect of
Statement-{

T .
22:hC§nlmution Day is celebrated on
ovember every year to promote

constitutional value
S among citizens.,
Statement-11 - X

On  26th Novembe

r, 1949, th
Constituent Assembly of India set u;
a Drafting Committee under the
Chairmanship of Dr. B. R. Ambedkar

to prepare a Draft Constitution of
India.

e following state i
ment
the Constitution Day e

Which one of the following is correct
he above statements?

for Statement-1
d Statement-11

correct but
STve N is incorrect
[iofienf] is incorrect but
@iément-11 is correct

Statement-11 :
Switzerland has the second largest
gold reserves in the world.

Which one of the following is correct
in respect of the above statements?

(@ Both Statement-1 and Statement-1l

: 11
tatement-1 and Statement-
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consider the f°nowin

gtatement=T :
Recently, the yp;

1t

(USA) and the E:g es of
have launched Opean .Ameﬁc&
Technology C°Unci1'he

gtatement-II ; ; and
The USA and
through this the

67

- alm
technological o
g Progre bri
productlwty under thsesir » ph}'s?c?]
which one of th M

e .
in respect of the abff:lb“nng is
(a) Both Statement.
o | and
are corr Sta
ect and Stateme tem_ent-n
correct explanation Nt-11 is the
(b) Both Statement.
—1 an
are correct angd Satsetatemcnt-n
not the correct o ment-I] g

Statement=] _g:nlﬁon for
(c) Statem F 7 L

Statement-1I is incorrect but
(@) Statement-l 'is incorrect

Statement—!_l’ :b* correct

68. Consider the fo

Statement-I :
India accounts
export of good

Statement-II :

Many local c

foreign compa

have takenl "2

‘Productic

Which one

'.IJMH PSS

69, ¢ .
onsider the following statements :

The ‘Stability and Growth Pact’ of the
European Union is a treaty that

1. limits the levels of the budgetary

deficit of the countries of the
European Union

2. makes the countries of the
European Union to share their
infrastructure facilities

3. enables the countries of the
European Union to share their
technt ogics

of the above statements are

onis 0 e following statemcn& :

2
&

Recently, all the countries of the
United Nations have adopted the
first-ever compact for international
migration, the ‘Global Compact
for Safe, Orderly and Regular
Migration (GCM).

2. The objectives and commitments
stated in the GCM are binding on
the UN member countries.

3. The GCM addresses internal
migration or internally displaced
people also in its objectives and
commitments.

How many of the above statements are
- correct?
. lu) Only one
(b) Only two

[ P.T.O.
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,,,5idcr the fO"Ow!n' COunme'
ce "

' Jgaria |
W 73. Consider the following statements
zech Republic Statement-I :
; The soil in tropical rain forests is rich
Hungary in nutrients.
Statement-I1 :
tvia The high temperature and Mm"““
. - of tropical rain mm.onw
i ‘ dead organic matter in the
5 Lithuaiey decompose quickly.
| in
i Which one ofthefombeoﬂeﬂ
6- Rom&ESS respect of the above statements?

_{ and Statement-TI
» dtsutemem-—lliome

(a) Both &
: ation for Sta

oW many of the above'menﬁ.,ned

countries share a land  borger e 18

Ukrain€?
(a) Only two | <
(c) Only {gu L Rl  inc
1 Only I | following statements
o e : wm‘;m
12, With reference > afosphiei inents S o e
which one ol ts i juring

- .
T IR
g

corrept? j

7.# }
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75 Consider the

77. Wolbachia method’

1. In a R“mmmlrn ol
recorded Carliey lth‘;‘ )‘ Wavegy

2. InP Waves, ), in §

vibrate tq ang

of wave

?: l/]:,l] Cl zfr r‘(\l:‘:? Statemeng
(@ 1 only

(b) 2 only

(¢) Both 1 ang 2

(d) Neither 1 nor 2

76. With reference to coal-bageq tl}e/ ‘ ‘
power plants in Ingia i¢ r,r,n oA

following statements :
1. None of them uses se

2. None of them:
water-stressed d

3

AN’/
How many o ¢k
correct? &
(@) On
(b)
(c) Al t
(d) None

is sometimes talked
about with reference to which one of
the following?

(a) Controlling the viral diseases
spread by mosquitoes

() Converting crop residues into
packing material v

(¢) Producing biodegradable plastics

(d) Producing biochar from thermo-

chemical conversion of biomass

XDTG-F-GST/62B

/

8, ¢
" (rmwlt'r the follc
| g Wing ACtivitieg
! prf‘;ulm;' fir
> 'Nely groune
on f;lrmlnnflq cxtnrmvrflh;“a“ =
2 Ine :
reasing the
y alkalj
~ ",Mmg — nity of Oceang
3.

Capturing
EC ’
by various i Xide releageq

it i 8 and ;
it ingq abandoneq Pumping
mindy | "

Waless

arbon dig

:l'rln‘x' many of +e Above activities are
iten con.”’f'rml it diSCusscd for
carbon caphurodan #questration?

{a) Ouly ona

() Onty o
(I Al thpée
(d) Nore

794 Perial metagenomics’

: best refers to
whic® orfe of the follo

wing situations?
(@ Collecting DNA samples from air
4,/ in a habitat at one go

Understanding the genetic makeup
of avian species of a habitat

(c) Using air-borne devices to collect
blood  samples
animals

~ )

from moving

(d) Sending drones to inaccessible
areas to collect plant and animal

samples from land surfaces and
water bodies

80. ‘Microsatellite DNA’ is useq in the case
of which one of the following?

(a) Studying the evolutionary
relatio‘ ships among various
species of fauna

‘ : <, ) tO
imulating  ‘stem  cells’

5 tsramrrl)sfom into diverse functional
tissues | f

(c) Promoting clonal propagation 0
horticultural plants H

i f drugs
ssing the efficacy of drugs &

" 2::¢eiucti§1g series of drug trials in
a population

[P.T.0.
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82. Consider the following stateme t

Consider the

. follow;
relation to Jangp, Q:l?rg ks Aemenyg

1. Itisas jang M
of the gfc mmherho(,d. O)ang .
‘ate Health 1y, ™eMVentiq,
2. Its objectiye ; “Partmen
and neongat 'S to €duce .
re al Mortality .. Materng)
Pregnant Women y ‘imong poor
3. It aims '
delive Promote INstity
\\»Ome;y Ong r ‘;tr‘;tlonal
. Bhant
4. Tts  objective :
: € inclug
ubli o idj
?nfan? health facilitieg D{OWd!ng
S UP 0 one yeqr of o, Yck
ge.
How many of the stat,

above are correct? ements given
(a) Only one

(b) Only two

(c) Only three

(d) All four

the context of intervention
undertaken under Anaeri
Bharat Strategy :

1. It provides propHyl
supplementatior

2.

3

4,

How many of the statements given
above are correct?

(a) Only one:

(b) Only two

(c) Only three

(d) All four Lilis

-F-GST/62B

Consiqg
er the follow:
OWing state
: ‘mentg
| o
¢ -Arbon f
ibreg
Manufact are used in the

ure of Components

n automobileg and aircraftg

Carbon £

bres one
= c€ used
recycled, 4 cannot be

Which of the statemen

ts given abg
. ve
Is/are corptoy

(@) 1 oy
(b) .2 only

() Botia] and ,

o (@) Aeither ) ngr,?

;8.4. %s/lder the following actions :

A. ‘Detection of car crash/collision
7 o, 43 which results in the deployment of

Q7 airbags almost instantaneously .

Detection of accidental free fall of
a laptop towards the ground which
results in the immediate turning off
of the hard drive

3. Detection of the tilt of the smart-
phone which results in the rotation
of display between portrait and
landscape mode

In how many of the above actions is the
function of accelerometer required?

(a) Only one
(b) Only two
(¢) All three
(d) None
[P.T.O.
e
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‘s. With refe!‘ence to the
F"  in Recirculatip

87, Which one of the followin i
& Countrieg hag
Auaculture System, its own Satellite Navigation System>

consider the fq Owing atatements
1. Biofilterg Provide wagte treatment (@) Australia

by removing Uneaten fish feed,
2. Biofilters Convert ammonig Present (b} Canada

in fish Waste tq Nitrate,
3.

Biofilters increase

1
Phosphorus ag (c)
nutrient for figy in

Water,

i Which of the Mm above

i - o iR
g oteec. A o i R At o
5 ) “ b % , Al
Ee

L W Wl
= Rj"-_“:' 4 u}ﬁ
r, - “"" h it Frl el

Bl e o et g

R |

e LI - | AR
0 M'ﬂ)']gg' ]

l:‘t L " f !’»1 s
,1.-“’* ;‘.k‘ T

e dml *

1 B e
W
Be U L
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89. Considgr e i
regarding Merey r;ll “iutg tatemem
1on ]

1. Gold Nin COnsidcr the o
of mercu,.y go?l‘;ttl ty is 4 i ;efcrencc 10 Indig . B Statementg with
1on j m the wgrlgc - /b\dccqrding 10 the Micro, g
 § Coal ba th 1 (Megﬁlg[l) Entel‘pri.e' D'ev:n‘n and
¥ mercury pollutj p Wer Planty ,"'ntcrpria)eca' o f tmeho.e'medium
3 There s kno machme,-y .between flls.m and
€Xposure 1, me € level of #25 crore and

s /possible to make payments
dxg:talcumncymﬁmmum‘
SdollarorSWlFrm
A digital currency can be
distributed with a condition
programmed into it such as a time-
frame for spending it.
Which of the statements given above
is/are correct?
(@) 1 only
(b) 2 only
(c) Both 1 and 2
- (d) Neither 1 nor 2
u%lnpthmaﬁmm the term ‘beta’
refers to
(@) ﬁbproeeuofmulhneouemymg

e
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L Wing g4 temeny
ool IY;He]p ¢}
w 1 ’ :
by  the St . e mf”('
y providin - ,m“‘d
manCIally dgpn ICrocreq to ngm
4 In
takinril:p(}’ o e
: Onsibj) o
. :n mdl\ndu 1 nlqlty bor tal:oan tOhL;'
. . akes,
SChedlEEddonal Rura] Banksg and
oo Sk mercig] anks
How man

(b) Only two
(c) Al three /
(d) None

95. Consider the following statements -

) -
Statement-] : L 3
India’s public sector health e
largely focuses on curati
limited preventive, ¢ /

rehabilitative care.
Statement-II :

Under India’s ¢ ! 'x&/
to health ca ."”//
primarily f
health s
Which one ¢
respect of the
(a) Both Statemer
are correct and Stat
correct explanation for Statement-I
—I1
Statement-I and Statement-
;.:ethcorrect and Statemt—ll is
not the correct explanation for
Statement-I .
P . "
Statement-1 18 correct |
Statement-II is incorrect
incorrect  but
Statement-I is incorrec
- Statement-II is correct
41
XDTG-F-GST/62B

o

(‘rnrrlmg {

: 0 t

Worlg Wate he United

2 Iy

“()),)., India extracts
fuarter of the world’y

Withdrawa) each year .

Nationg’
R"pr;rr,

than
groundwater

[)"V"lf)[)rnr-y1|
more

Smtmncm I

India needs to extract

A quarter of the world’s g
each year Ao satisfy the dri
and sanitagen ueeds of

more than
roundwater
nking water

almost 187
of woTld8  population livi '
pulation livin
territogy, o ol
Whic

b oneof the lollowirig is correct in

rcspeet of the asove latements?

(@ BothiStaternent ] and Statement-II
are correct ahd.Statément-I1 is the
coirect explagation for Statement-|

fb), Both Statefmént-l and Statement-11
are Cortect”and Statement-II is

4 not the correct explanation for

Statement-I

(al/ Statement-1  is  correct  but
Statement-I1 is incorrect

[e) ~Statement-1 is incorrect but
Statement-II is correct

o (37 /
%97/ Consider the following statements :

1. According to the Constitution of
India, the Central Government has
a duty to protect States from
internal disturbances.

2. The Constitution of India exempts
the States from providing legal
counsel to a person being held for
preventive detention.

3. According to the Prevention of
Terrorism Act, 2002, confesslon_of
the accused before the police
cannot be used as evidence.

How many of the above statements are
correct?

(a) Only one
(b) Only two
() Al three
(d) None
| P.T.O.
2
o - I-
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g. which one of the following countries has
been suffering from decades of civil strife
and food shortages and was in news

in the recent past for its very severe
famine?

(a) Angola
(b) Costa Rica
(c) Ecuador

(d) Somalia

99, Consider the following statements :

1. In India, the Biodiversit?
i .II. T c ittees are

" * alizatio:
1 J D
ks AR ‘
;

100. Consider the following statements in
respect of election to the President of
India :

1. The members nominated to either
House of the Parliament or the
Legislative Assemblies of States are
also eligible to be included in the
Electoral College.

‘
0|;|c ofvowd“d'm

%ducherry is higher than that
because the
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